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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-1_0
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G3-1

BYiE) | GEBIATIK () | EHME (EH/&) | EBRERE (/X)) | XK R
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FRV (ml plant-1)

ET (ml/hr/plant)

G3-1_0, Day=23 (2025-06-04)
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G3-1_0, Day=22 (2025-06-03)
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G3-1

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK R

06:35 105 80.0 1.728 (2 =| 1Ri8006:35 Bzh (KREEREE)
07:35 105 80.0 1.728 | 1Ri&e07:35 Bz (KAL)
09:30 105 80.0 1.728 5| 1RiR@09:30 Bz (KREEESE)
11:15 105 80.0 1.728 =l Rige11:15 B3 (RAERSE)
13:05 105 80.0 1.728 |2 =| 1BRige13:05 Bzh (REERESE)
14:25 105 80.0 1.728 (2 =| 1Ri%e14:25 Bz (REFEBRSR)
15:50 105 80.0 1.728 | =| 1Ri%e15:50 Bz (kBEREE)
=23t| 735.0 (%) 560. 0 3EGHKEC: 2800.0, PH: 6.5

large discrepency for begining water status (114:291.0), set to 114 ml.
REXEBIPH (10.54) 5i&EPH (6.5) RER KA, HFHRE
REXFEBIPH (10.54) 5FMPH (6.5) RERK, FHRE
REXEBIEC (1884.0) 5iRTEEC (2500.0) REK K, BT

LOREBIEC (2740.0) S51EEIEY (2340.0) RERK, BRE.

EUGERPH (11.3) 5i8EE (6.5 REKK, FHE.
LORGEBIPH (11.3) S5#AVEWN (6.5) RERK, BRE.
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G3-1

BFE) | GEBATK () | s (EAR/#) | EREE (B/R) | X5 R

09:35 98 80.0 1.728 | =| 1Ri%@09:35 Bz (kAEREE)
12:05 98 80.0 1.728 FH| {Ri&@12:05 Bz (RAKEESE)
23t 196.0 (2%) 160.0 3203 KEC: 2800.0, PH: 6.5

ERGEBRT R IZIR B I (98 vs 129.0))

FRIALPRIEBRE61. 0 ml.

large discrepency for begining water status (87:276.0), set to 87 ml.
REXEBIPH (10.4) 5i%FEPH (6.4) REK KA, BRE

REXFEBIPH (10.4) 5FMPH (6.5) wEKK, BRE

ERGEBIEC (2045.0) 5% E(E (2500.0) RERAKA, FHRE.

LERGERPH (10.8) H5igE(E (6.5) REKK, BHRE.

LERGEBIPH (10.8) S5iREEIY (6.5) REKRK, HRE.
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G3-1

BFE) | GEBATK () | s (EAR/#) | EREE (B/R) | X5 R

08:10 133 80.0 1.728 FA| {Ri%@08:10 Bz (RAMEEEE)
09:40 133 80.0 1.728 FE| 1RRi%@09:40 Bz (AR
2it| 266.0 (2%) 160.0 32053 %EC: 2800.0, PH: 6.4

EREB AT AR IRAREYE Y (200 vs 129.0))

FRINKEPREBE124.0 ml.

large discrepency for begining water status (76:294.0), set to 76 ml.
RERSERIPH (10.36) 5i&EPH (6.3) REK K, BT

REXEBIPH (10.36) 5FMPH (6.5) RERK, FHRE

P[EIRECE (1897. 0 vs 2596.0) R

LRGEBPH (10.4) 5igEE (6.4) REKK, BHRE.

LERGEBIPH (10.4) S5iREEY (6.4) RERK, BHRE.
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G3-1_0, Day=19 (2025-05-31)
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